Trig Word Problems

1)

A hot-air balloon is tied to the ground with two taut (straight) ropes, as shown in the diagram
below. One rope is directly under the balloon and makes a right angle with the ground. The other
rope forms an angle of 50° with the ground.
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2)

A communications company is building a 30-foot
antenna to carry cell phone transmissions, As
shown in the diagram below, a 50-foot wire from
the top of the antenna to the ground 1s used to
stabilize the antenna.
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Find, to the nearest degree. the measure of the
angle that the wire makes with the ground.



3) A 10-foot ladder is to be placed against the
side of a building. The base of the ladder
must be placed at an angle of 72° with the
level ground for a secure footing. Find. to the
nearest inch, how far the base of the ladder
should be from the side of the building and
how far up the side of the building the ladder
will reach.

4)  Find. to the nearest tenth of a foot. the height

of the tree represented in the accompanying
diagram.
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